## Article

# On Improvements of Kantorovich Type Inequalities 

Chang-Jian Zhao ${ }^{1, *}$ and Wing-Sum Cheung ${ }^{2}$<br>1 Department of Mathematics, China Jiliang University, Hangzhou 310018, China<br>2 Department of Mathematics, The University of Hong Kong, Pokfulam Road, Hong Kong, China; wscheung@hku.hk<br>* Correspondence: chjzhao@163.com

Received: 8 February 2019; Accepted: 6 March 2019; Published: 13 March 2019
Abstract: In the paper, we give some new improvements of the Kantorovich type inequalities by using Popoviciu's, Hölder's, Bellman's and Minkowski's inequalities. These results in special case yield Hao's, reverse Cauchy's and Minkowski's inequalities.

Keywords: Popoviciu's inequality; Bellman's inequality; Hölder's weighted inequality; Minkowski's inequality

2010 Mathematics Subject Classication: 26D15

## 1. Introduction

The Pólya-Szegö's inequality can be stated as follows ([1] or ([2], p. 62)).
If $u_{k}$ and $v_{k}$ are non-negative real sequences, and $0<m_{1} \leq u_{k} \leq M_{1}$, and $0<m_{2} \leq v_{k} \leq M_{2}$ for $k=1,2, \ldots, n$, then

$$
\begin{equation*}
\sum_{k=1}^{n} u_{k}^{2} \sum_{k=1}^{n} v_{k}^{2} \leq \frac{\left(M_{1} M_{2}+m_{1} m_{2}\right)^{2}}{4 m_{1} m_{2} M_{1} M_{2}}\left(\sum_{k=1}^{n} u_{k} v_{k}\right)^{2} \tag{1}
\end{equation*}
$$

The Pólya-Szegö's inequality was studied extensively and numerous variants, generalizations, and extensions appeared in the literature (see [3-6] and the references cited therein). The integral forms of Pólya-Szegö's inequality were recently established in [7-10]. The weighted version of inequality (1) was proved in papers of Watson [11] and Greub and Rheinboldt [12]:

$$
\begin{equation*}
\sum_{k=1}^{n} \omega_{k} u_{k}^{2} \cdot \sum_{k=1}^{n} \omega_{k} v_{k}^{2} \leq \frac{\left(M_{1} M_{2}+m_{1} m_{2}\right)^{2}}{4 m_{1} m_{2} M_{1} M_{2}}\left(\sum_{k=1}^{n} \omega_{k} u_{k} v_{k}\right)^{2} \tag{2}
\end{equation*}
$$

where $\omega_{k}$ is a nonnegative $n$-tuple.
An interesting generalization of Kantorovich type inequality was given by Hao ([13], p. 122), so we shall give his result:

$$
\begin{equation*}
\left(\sum_{k=1}^{n} \omega_{k} u_{k}^{2}\right)^{1 / p}\left(\sum_{k=1}^{n} \omega_{k} v_{k}^{2}\right)^{1 / q} \leq \ell\left(\sum_{k=1}^{n} \omega_{k} u_{k} v_{k}\right) \tag{3}
\end{equation*}
$$

where $0<\frac{1}{q} \leq \frac{1}{p}<1$ and $\frac{1}{p}+\frac{1}{q}=1$, and

$$
\begin{equation*}
\ell=\frac{q M_{1} M_{2}+p m_{1} m_{2}}{p q\left(m_{1} M_{1}\right)^{1 / q}\left(m_{2} M_{2}\right)^{1 / p}} . \tag{4}
\end{equation*}
$$

We recall that, with the name "Kantorovich", we also usually refer to some integral-type extension of classical inequalities, classical pointwise operators, and other mathematical tools-see, e.g., [14-17].

The first aim of this paper is to give a new improvement of the Kantorovich type inequality (3). We combine organically Popoviciu's, Hölder's, and Hao's inequalities to derive a new inequality, which is a generalization of Label (3).

Corresponding to (3), we can obtain a reverse Minkowski's inequality as follows:

$$
\begin{equation*}
\ell\left(\sum_{k=1}^{n} \omega_{k}\left(u_{k}+v_{k}\right)^{2}\right)^{1 / p} \geq\left(\sum_{k=1}^{n} \omega_{k} u_{k}^{2}\right)^{1 / p}+\left(\sum_{k=1}^{n} \omega_{k} v_{k}^{2}\right)^{1 / p} \tag{5}
\end{equation*}
$$

where $p, q, \omega_{k}, u_{k}, v_{k}$ are as in (3), and $\ell$ is definied in (4).
Another aim of this paper is to give a new reverse Minkowski's inequality. We combine organically Bellman's and Minkowski's inequalities to derive a new inequality, which is generalization of the reverse Minkowski's inequality (5).

## 2. Results

We need the following Lemmas to prove our main results.
Lemma 1. (Popoviciu's inequality) ([18], p. 58) Let $p>0, q>0, \frac{1}{p}+\frac{1}{q}=1$, and $a=\left\{a_{1}, \ldots, a_{n}\right\}$ and $b=$ $\left\{b_{1}, \ldots, b_{n}\right\}$ be two series of positive real numbers and such that $a_{1}^{p}-\sum_{i=2}^{n} a_{i}^{p}>0$ and $b_{1}^{q}-\sum_{i=2}^{n} b_{i}^{q}>0$. Then,

$$
\begin{equation*}
\left(a_{1}^{p}-\sum_{i=2}^{n} a_{i}^{p}\right)^{1 / p}\left(b_{1}^{q}-\sum_{i=2}^{n} b_{i}^{q}\right)^{1 / q} \leq a_{1} b_{1}-\sum_{i=2}^{n} a_{i} b_{i} \tag{6}
\end{equation*}
$$

with equality if and only if $a=\mu b$, where $\mu$ is a constant.
Lemma 2. (Bellman's inequality) ([19], $p$. 38) Let $a=\left\{a_{1}, \ldots, a_{n}\right\}$ and $b=\left\{b_{1}, \ldots, b_{n}\right\}$ be two series of positive real numbers and $p>1$ such that $a_{1}^{p}-\sum_{i=2}^{n} a_{i}^{p}>0$ and $b_{1}^{p}-\sum_{i=2}^{n} b_{i}^{p}>0$, then

$$
\begin{equation*}
\left(a_{1}^{p}-\sum_{i=2}^{n} a_{i}^{p}\right)^{1 / p}+\left(b_{1}^{p}-\sum_{i=2}^{n} b_{i}^{p}\right)^{1 / p} \leq\left(\left(a_{1}+b_{1}\right)^{p}-\sum_{i=2}^{n}\left(a_{i}+b_{i}\right)^{p}\right)^{1 / p} \tag{7}
\end{equation*}
$$

with equality if and only if $a=v b$, where $v$ is a constant.
Lemma 3. (Hölder's weighted inequality) ([13], p. 100) Let $p>0, q>0, \frac{1}{p}+\frac{1}{q}=1$, and $a_{k}, b_{k}$ and $\omega_{k}$ be non-negative real numbers, then

$$
\begin{equation*}
\sum_{k=1}^{n} \omega_{k} a_{k} b_{k} \leq\left(\sum_{k=1}^{n} \omega_{k} a_{k}^{p}\right)^{1 / p}\left(\sum_{k=1}^{n} \omega_{k} b_{k}^{q}\right)^{1 / q} \tag{8}
\end{equation*}
$$

Lemma 4. Let $0<\frac{1}{q} \leq \frac{1}{p}<1$ and $\frac{1}{p}+\frac{1}{q}=1$. If $u_{k}, v(k)$ and $\omega_{k}$ are non-negative real sequences, and $0<m_{1} \leq u_{k} \leq M_{1}$, and $0<m_{2} \leq v_{k} \leq M_{2}$ for $k=1,2, \ldots, n$, then

$$
\begin{equation*}
\ell\left(\sum_{k=1}^{n} \omega_{k}\left(u_{k}+v_{k}\right)^{2}\right)^{1 / p} \geq\left(\sum_{k=1}^{n} \omega_{k} u_{k}^{2}\right)^{1 / p}+\left(\sum_{k=1}^{n} \omega_{k} v_{k}^{2}\right)^{1 / p} \tag{9}
\end{equation*}
$$

where $\ell$ is as in Label (4).

Proof. From (3), we have

$$
\begin{aligned}
\ell \sum_{k=1}^{n} \omega_{k}\left(u_{k}+v_{k}\right)^{2} & =\ell \sum_{k=1}^{n} \omega_{k} u_{k}\left(u_{k}+v_{k}\right)+\ell \sum_{k=1}^{n} \omega_{k} v_{k}\left(u_{k}+v_{k}\right) \\
& \geq\left(\sum_{k=1}^{n} \omega_{k} u_{k}^{2}\right)^{1 / p}\left(\sum_{k=1}^{n} \omega_{k}\left(u_{k}+v_{k}\right)^{2}\right)^{1 / q}+\left(\sum_{k=1}^{n} \omega_{k} v_{k}^{2}\right)^{1 / p}\left(\sum_{k=1}^{n} \omega_{k}\left(u_{k}+v_{k}\right)^{2}\right)^{1 / q}
\end{aligned}
$$

Hence,

$$
\ell\left(\sum_{k=1}^{n} \omega_{k}\left(u_{k}+v_{k}\right)^{2}\right)^{1 / p} \geq\left(\sum_{k=1}^{n} \omega_{k} u_{k}^{2}\right)^{1 / p}+\left(\sum_{k=1}^{n} \omega_{k} v_{k}^{2}\right)^{1 / p}
$$

This proof is complete.
Our main results are given in the following theorems.
Theorem 1. Let $m, n \in \mathbb{N}^{+}, 0<\frac{1}{q} \leq \frac{1}{p}<1$ and $\frac{1}{p}+\frac{1}{q}=1$. Let $u_{k}, v_{k}, a_{k}, b_{k}, \omega_{k}$ and $\mu_{k}$ be non-negative real sequences such as $\omega_{k} u_{k}^{2}>m \mu_{k} a_{k}^{p}$ and $\omega_{k} v_{k}^{2}>m \mu_{k} b_{k^{\prime}}^{q}$ where $k=1,2, \ldots, n$. If $0<m_{1} \leq u_{k} \leq M_{1}$ and $0<m_{2} \leq v_{k} \leq M_{2}$, then

$$
\begin{equation*}
\sum_{k=1}^{n}\left(\ell \omega_{k} u_{k} v_{k}-m \mu_{k} a_{k} b_{k}\right) \geq\left(\sum_{k=1}^{n}\left(\omega_{k} u_{k}^{2}-m \mu_{k} a_{k}^{p}\right)\right)^{1 / p}\left(\sum_{k=1}^{n}\left(\omega_{k} v_{k}^{2}-m \mu_{k} b_{k}^{q}\right)\right)^{1 / q} \tag{10}
\end{equation*}
$$

where $\ell$ is as in (4).
Proof. Let's prove this theorem by mathematical induction for $m$. First, we prove that (10) holds for $m=1$. From (3) and (8), we obtain

$$
\begin{equation*}
\ell\left(\sum_{k=1}^{n} \omega_{k} u_{k} v_{k}\right) \geq\left(\sum_{k=1}^{n} \omega_{k} u_{k}^{2}\right)^{1 / p}\left(\sum_{k=1}^{n} \omega_{k} v_{k}^{2}\right)^{1 / q} \tag{11}
\end{equation*}
$$

and

$$
\begin{equation*}
\left(\sum_{k=1}^{n} \mu_{k} a_{k} b_{k}\right) \leq\left(\sum_{k=1}^{n} \mu_{k} a_{k}^{p}\right)^{1 / p}\left(\sum_{k=1}^{n} \mu_{k} b_{k}^{q}\right)^{1 / q} \tag{12}
\end{equation*}
$$

From (11), (12) and, in view of the Popoviciu's inequality, we have

$$
\begin{aligned}
\sum_{k=1}^{n}\left(\ell \omega_{k} u_{k} v_{k}-\mu_{k} a_{k} b_{k}\right) & \geq\left(\sum_{k=1}^{n} \omega_{k} u_{k}^{2}\right)^{1 / p}\left(\sum_{k=1}^{n} \omega_{k} v_{k}^{2}\right)^{1 / q}-\left(\sum_{k=1}^{n} \mu_{k} a_{k}^{p}\right)^{1 / p}\left(\sum_{k=1}^{n} \mu_{k} b_{k}^{q}\right)^{1 / q} \\
& \geq\left(\sum_{k=1}^{n}\left(\omega_{k} u_{k}^{2}-\mu_{k} a_{k}^{p}\right)\right)^{1 / p}\left(\sum_{k=1}^{n}\left(\omega_{k} v_{k}^{2}-\mu_{k} b_{k}^{q}\right)\right)^{1 / q}
\end{aligned}
$$

This shows (10) right for $m=1$.
Suppose that (10) holds when $m=r-1$; we have

$$
\begin{equation*}
\sum_{k=1}^{n}\left(\ell \omega_{k} u_{k} v_{k}-(r-1) \mu_{k} a_{k} b_{k}\right) \geq\left(\sum_{k=1}^{n}\left(\omega_{k} u_{k}^{2}-(r-1) \mu_{k} a_{k}^{p}\right)\right)^{1 / p}\left(\sum_{k=1}^{n}\left(\omega_{k} v_{k}^{2}-(r-1) \mu_{k} b_{k}^{q}\right)\right)^{1 / q} \tag{13}
\end{equation*}
$$

From (6), (12) and (13), we obtain

$$
\begin{aligned}
\sum_{k=1}^{n}\left(\ell \omega_{k} u_{k} v_{k}-r \mu_{k} a_{k} b_{k}\right) & \geq\left(\sum_{k=1}^{n}\left(\omega_{k} u_{k}^{2}-(r-1) \mu_{k} a_{k}^{p}\right)\right)^{1 / p}\left(\sum_{k=1}^{n}\left(\omega_{k} v_{k}^{2}-(r-1) \mu_{k} b_{k}^{q}\right)\right)^{1 / q} \\
& -\left(\sum_{k=1}^{n} \mu_{k} a_{k}^{p}\right)^{1 / p}\left(\sum_{k=1}^{n} \mu_{k} b_{k}^{q}\right)^{1 / q} \\
& \geq\left(\sum_{k=1}^{n}\left(\omega_{k} u_{k}^{2}-r \mu_{k} a_{k}^{p}\right)\right)^{1 / p}\left(\sum_{k=1}^{n}\left(\omega_{k} v_{k}^{2}-r \mu_{k} b_{k}^{q}\right)\right)^{1 / q}
\end{aligned}
$$

This shows that (10) is correct if $m=r-1$, then $m=r$ is also correct. Hence, (10) is right for any $m \in \mathbb{N}^{+}$.

This proof is complete.
Taking $m=1$ and $\omega_{k}=\mu_{k}$ in Theorem 1, we have the following result.
Corollary 1. Let $p, q, u_{k}, v_{k}, a_{k}, b_{k}$ and $\omega_{k}$ are as in Theorem 1 , then

$$
\sum_{k=1}^{n}\left(\omega_{k}\left(\ell u_{k} v_{k}-a_{k} b_{k}\right)\right) \geq\left(\sum_{k=1}^{n} \omega_{k}\left(u_{k}^{2}-a_{k}^{p}\right)\right)^{1 / p}\left(\sum_{k=1}^{n} \omega_{k}\left(v_{k}^{2}-b_{k}^{q}\right)\right)^{1 / q}
$$

where $\ell$ is as in (4).

Taking $m=1, p=q=2$ and $\omega_{k}=\mu_{k}=1$ in Theorem 1, we have the following result.
Corollary 2. Let $u_{k}, v_{k}, a_{k}$ and $b_{k}$ are as in Theorem 1, then

$$
\begin{equation*}
\sum_{k=1}^{n}\left(\frac{M_{1} M_{2}+m_{1} m_{2}}{2 \sqrt{m_{1} m_{2} M_{1} M_{2}}} u_{k} v_{k}-a_{k} b_{k}\right) \geq\left(\sum_{k=1}^{n}\left(u_{k}^{2}-a_{k}^{2}\right)\right)^{1 / 2}\left(\sum_{k=1}^{n}\left(v_{k}^{2}-b_{k}^{2}\right)\right)^{1 / 2} \tag{14}
\end{equation*}
$$

Taking for $a_{k}=0$ and $b_{k}=0$ in (14), we get the following interesting reverse Cauchy's inequality.

$$
\frac{M_{1} M_{2}+m_{1} m_{2}}{2 \sqrt{m_{1} m_{2} M_{1} M_{2}}} \cdot \sum_{k=1}^{n} u_{k} v_{k} \geq\left(\sum_{k=1}^{n} u_{k}^{2}\right)^{1 / 2}\left(\sum_{k=1}^{n} v_{k}^{2}\right)^{1 / 2}
$$

Theorem 2. Let $m, n \in \mathbb{N}^{+}, 0<\frac{1}{q} \leq \frac{1}{p}<1$ and $\frac{1}{p}+\frac{1}{q}=1$. Let $u_{k}, v_{k}, a_{k}, b_{k}, \omega_{k}$ and $\mu_{k}$ be non-negative real sequences such as $\omega_{k} u_{k}^{2}>m a_{k}^{p}$ and $\omega_{k} v_{k}>m b_{k}^{q}$, where $k=1,2, \ldots, n$. If $0<m_{1} \leq u_{k} \leq M_{1}$ and $0<m_{2} \leq v_{k} \leq M_{2}$, then

$$
\begin{equation*}
\left(\sum_{k=1}^{n}\left(\ell^{p} \omega_{k}\left(u_{k}+v_{k}\right)^{2}-m\left(a_{k}+b_{k}\right)^{p}\right)\right)^{1 / p} \geq\left(\sum_{k=1}^{n}\left(\omega_{k} u_{k}^{2}-m a_{k}^{p}\right)\right)^{1 / p}+\left(\sum_{k=1}^{n}\left(\omega_{k} v_{k}^{2}-m b_{k}^{p}\right)\right)^{1 / p} \tag{15}
\end{equation*}
$$

where $\ell$ is as in (4).
Proof. First, we prove that (15) holds for $m=1$. From (9) and in view of Minkowski's inequality, it is easy to obtain

$$
\begin{equation*}
\ell\left(\sum_{k=1}^{n} \omega_{k}\left(u_{k}+v_{k}\right)^{2}\right)^{1 / p} \geq\left(\sum_{k=1}^{n} \omega_{k} u_{k}^{2}\right)^{1 / p}+\left(\sum_{k=1}^{n} \omega_{k} v_{k}^{2}\right)^{1 / p} \tag{16}
\end{equation*}
$$

and

$$
\begin{equation*}
\left(\sum_{k=1}^{n}\left(a_{k}+b_{k}\right)^{p} d x\right)^{1 / p} \leq\left(\sum_{k=1}^{n} a_{k}^{p}\right)^{1 / p}+\left(\sum_{k=1}^{n} b_{k}^{p}\right)^{1 / p} \tag{17}
\end{equation*}
$$

From (16), (17) and the Bellman's inequality, we have

$$
\begin{aligned}
& \left(\sum_{k=1}^{n}\left(\ell^{p} \omega_{k}\left(u_{k}+v_{k}\right)^{2}-\left(a_{k}+b_{k}\right)^{p}\right)\right)^{1 / p} \\
& \geq\left\{\left[\left(\sum_{k=1}^{n} \omega_{k} u_{k}^{2}\right)^{1 / p}+\left(\sum_{k=1}^{n} \omega_{k} v_{k}^{2}\right)^{1 / p}\right]^{p}-\left[\left(\sum_{k=1}^{n} a_{k}^{p}\right)^{1 / p}+\left(\sum_{k=1}^{n} b_{k}^{p}\right)^{1 / p}\right]^{p}\right\}^{1 / p} \\
& \geq\left(\sum_{k=1}^{n}\left(\omega_{k} u_{k}^{2}-a_{k}^{p}\right)\right)^{1 / p}+\left(\sum_{k=1}^{n}\left(\omega_{k} v_{k}^{2}-b_{k}^{p}\right)\right)^{1 / p} .
\end{aligned}
$$

This shows that (15) holds for $m=1$
Supposing that (15) holds when $m=r-1$, we have

$$
\begin{align*}
\left(\sum_{k=1}^{n}\left(\ell^{p} \omega_{k}\left(u_{k}+v_{k}\right)^{2}-(r-1)\left(a_{k}+b_{k}\right)^{2}\right)\right)^{1 / p} & \geq\left(\sum_{k=1}^{n}\left(\omega_{k} u_{k}^{2}-(r-1) a_{k}^{p}\right)\right)^{1 / p}  \tag{18}\\
& +\left(\sum_{k=1}^{n}\left(\omega_{k} v_{k}^{2}-(r-1) b_{k}^{p}\right)\right)^{1 / p}
\end{align*}
$$

From (17), (18) and by using the Bellman's inequality again, we obtain

$$
\begin{aligned}
\left(\sum_{k=1}^{n}\left(\ell^{p} \omega_{k}\left(u_{k}+v_{k}\right)^{2}-r\left(a_{k}+b_{k}\right)^{2}\right)\right)^{1 / p} & \geq\left\{\left[\left(\sum_{k=1}^{n}\left(\omega_{k} u_{k}^{2}-(r-1) a_{k}^{p}\right)\right)^{1 / p}\right.\right. \\
& \left.+\left(\sum_{k=1}^{n}\left(\omega_{k} v_{k}^{2}-(r-1) b_{k}^{p}\right)\right)^{1 / p}\right]^{p} \\
& \left.-\left[\left(\sum_{k=1}^{n} a_{k}^{p}\right)^{1 / p}+\left(\sum_{k=1}^{n} b_{k}^{p}\right)^{1 / p}\right]^{p}\right\}^{1 / p} \\
& \geq\left(\sum_{k=1}^{n}\left(\omega_{k} u_{k}^{2}-r a_{k}^{p}\right)\right)^{1 / p}+\left(\sum_{k=1}^{n}\left(\omega_{k} v_{k}^{2}-r b_{k}^{p}\right)\right)^{1 / p} .
\end{aligned}
$$

This shows that (15) is correct if $m=r-1$, then $m=r$ is also correct. Hence, (15) is right for any $m \in \mathbb{N}^{+}$.

This proof is complete.
Taking for $m=1, p=2$ and $\omega_{k}=1$, we have the following result.
Corollary 3. Let $u_{k}, v_{k}, a_{k}, b_{k}, m_{1}, m_{2}, M_{1}$, and $M_{2}$ be as in Theorem 2 , then

$$
\left[\left(\sum_{k=1}^{n}\left(\hbar\left(u_{k}+v_{k}\right)^{2}-\left(a_{k}+b_{k}\right)^{2}\right)\right)\right]^{1 / 2} \geq\left(\sum_{k=1}^{n}\left(u_{k}^{2}-a_{k}^{2}\right)\right)^{1 / 2}+\left(\sum_{k=1}^{n}\left(v_{k}^{2}-b_{k}^{2}\right)\right)^{1 / 2}
$$

where

$$
\hbar=\frac{\left(M_{1} M_{2}+m_{1} m_{2}\right)^{2}}{4 m_{1} m_{2} M_{1} M_{2}}
$$

Author Contributions: C.-J.Z. and W.-S.C. jointly contributed to the main results. All authors read and approved the nal manuscript.
Funding: Research is supported by National Natural Science Foundation of China (11371334, 10971205). Wing-Sum Cheung: Research is partially supported by the Research Grants Council of the Hong Kong SAR.
Acknowledgments: The authors express their thanks to the three referees for their excellent suggestions. The authors express their thanks to W . Li for his valuable help.
Conflicts of Interest: The authors declare no conflicts of interest.

## References

1. Pólya, G.; Szegö, G. Aufgaben und Lehrsätze aus der Analysis I; Springer-Verlag: Berlin, Germany, 1925.
2. Hardy, G.H.; Littlewood, J.E.; Pólya, G. Inequalities; Cambridge University Press: Cambridge, UK, 1934.
3. Wu, S.-H. Generalization of a sharp Hölder's inequality and its application. J. Math. Anal. Appl. 2007, 332, 741-750. [CrossRef]
4. Wu, S.-H. A new sharpened and generalized version of Hölder's inequality and its applications. Appl. Math. Comput. 2008, 197, 708-714. [CrossRef]
5. Dragomir, S.S. Discrete Inequalities of the Cauchy-Bunyakovsky-Schwarz Type; Nova Science Publishers, Inc. Hauppauge: New York, NY, USA, 2004; pp. 92-93.
6. Dragomir, S.S.; Khan, L. Two discrete inequalities of Grüss type via Pólya-Szegö and Shisha-Mond results for real numbers. Tamkang J. Math. 2004, 35, 117-128.
7. Zhao, C.-J.; Cheung, W.S. On Pólya-Szegö integral inequality. J. Inequal. Appl. 2013, 2013, 591. [CrossRef]
8. Zhou, Y.; Hou, H. An integral inequality and Pólya-Szegö inequality. Chin. Q. J. Math. 2007, 22, 412-414.
9. Barchiesi, M.; Capriani, G.M.; Fusco, N.; Pisante, G. Stability of Pólya-Szegö inequality for log-concave functions. J. Funct. Anal. 2014, 267, 2264-2297. [CrossRef]
10. Wu, D.; Veera, L.; Srivastava, H.M. Another refinement of the Polya-Szego inequality. Comput. Math. Appl. 2010, 60, 761-770. [CrossRef]
11. Watson, G.S. Serial correlation in regression anaysis I. Biometrika 1955, 42, 327-341. [CrossRef]
12. Greub, W.; Rheinboldt, W. On a generalization of an inequality of L. V. Kantorovich. Proc. Am. Math. Soc. 1959, 10, 407-415. [CrossRef]
13. Mitrinović, D.S.; Pećarić, J.E.; Fink, A.M. Classical and New Inequalities in Analysis; Kluwer Academic Publisher: Dordrecht, The Netherlands; Boston, MA, USA; London, UK, 1993.
14. Costarelli, D.; Minotti, A.M.; Vinti, G. Approximation of discontinuous signals by sampling Kantorovich series. J. Math. Anal. Appl. 2017, 450, 1083-1103. [CrossRef]
15. Costarelli, D.; Vinti, G. Convergence results for a family of Kantorovich max-product neural network operators in a multivariate setting. Math. Slovaca 2017, 67, 1469-1480. [CrossRef]
16. Costarelli, D.; Sambucini, A.R. Approximation results in Orlicz spaces for sequences of Kantorovich max-product neural network operators. Results Math. 2018, 73, 15. [CrossRef]
17. Costarelli, D.; Vinti, G. An inverse result of approximation by sampling Kantorovich series. Proc. Edinburgh Math. Soc. 2019, 62, 265-280. [CrossRef]
18. Mitrinović, D.S. Analytic Inequalities; Springer: Berlin/Heidelberg, Germany; New York, NY, USA, 1970.
19. Bechenbach, E.F.; Bellman, R. Inequalities; Springer: Berlin/Heidelberg, Germany, 1961.
© 2019 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http:// creativecommons.org/licenses/by/4.0/).
